	Revelry Event Designers			IN-0006491 Gabrielle Jaworskyj			
3604 Medford St. Los Angeles, CA 90063 (323) 263-1657							
08/25/2023 09:00 AM Delivery DAy 1 08/26/2023 09:00 AM Touch ups 08/27/2023 09:00 AM Strike		PO: Shipping Address:		Invoice Date: Due Date: Upon Receipt			
00/2//2023 03.0		27405 Pacific Coast Hwy, Malib US	Ju, Ca,,	Salesperson: Romina Manoli		lanolio	
Description			Qtty	Price		Total	
Bars & Barback	S						
	Garden Bars - Jardin Du C 8' ^{Glass top}	hamp Elysees - Hedge Straight	3	\$550.00	Т	\$1,650.00	
	Barback - Tokyo - Straight Need Color For Barback	Basic 8' - Metal	2	\$286.00	Т	\$572.00	
	Shelves - A Frame Folding	g Shelves	1	\$165.00	Т	\$165.00	
			Т	otal Bars & Barba	cks	\$2,387.00	
Pizza Station							
	Buffet and Table Display - Custom Awning & Front sing	Aspen Food Station 8'	1	\$2,090.00	Т	\$2,090.00	
	In Stock Pizza this Way Si	gn	1	\$82.50	Т	\$82.50	
	Decor - Fruit Box		20	\$5.50	Т	\$110.00	
				Total Pizza Stat	ion	\$2,282.50	
Cheese and Cru	udite station						
	Custom Made Signage		1	\$275.00	Т	\$275.00	
	Decor - Kids - Fruit Box		10	\$5.50	Т	\$55.00	
	Decor - Kids - Fruit Crates Different Tones Wood		4	\$5.50	Т	\$22.00	
	Dining Tables - Siena - Re 8'x40"	ctangular Wood	1	\$550.00	Т	\$550.00	

Description		Qtty	Price		Total
	Stand Up Tables - Siena - Round Wood	2	\$302.50	Т	\$605.00

		Total Cheese and Crudite station		\$1,507.00	
Flower Cart Area					
	Dining Tables - Siena - Rectangular Wood 8'x40"	2	\$550.00	Т	\$1,100.00
	Buffet And Display Tables - Napa - Dark Wood	1	\$495.00	Т	\$495.0
	Custom Made Signage	1	\$275.00	Т	\$275.0
		Т	otal Flower Cart A	Area	\$1,870.0
Salad & Rotisse	rie Chicken				
	Buffet and Table Display - Aspen Food Station 8' Option 1 - Awning and Frame TBD Color	2	\$2,090.00	Т	\$4,180.00
	Custom Made Salad Signs	1	\$275.00	Т	\$275.0
	Small Decor - Tahiti - Basket Cylinder Small	4	\$60.50	Т	\$242.0
	Small Decor - Tahiti - Wicker Basket Round Large	3	\$60.50	Т	\$181.5
	Small Decor - Tahiti - Wicker Basket Round Small	4	\$60.50	Т	\$242.0
	Small Decor - Tahiti - Basket Rectangular Large	4	\$60.50	Т	\$242.0
	Small Decor - Tahiti - Basket Rectangular Small	4	\$60.50	Т	\$242.00
	Small Decor - Tahiti - Basket Cylinder Large	3	\$60.50	Т	\$181.5
		Total Salad & Rotisserie Chicken		ken	\$5,786.0
Smoothie Statio	on				
	Custom Made Signage	1	\$275.00	Т	\$275.00

Description		Qtty	Price		Total
53	Props - Carts - Display Bike Cart W/ Drawing - Mela Painted in Blue as the picture - Accent in Fuchsia accents _ Top Sarape Blue	1	\$880.00	Т	\$880.00
		Total Smoothie Station		\$1,155.00	
Chairs and Tabl	es				
	Small Dining Tables - Siena - Round Wood	8	\$275.00	Т	\$2,200.00
	Stand Up Tables - Siena - Round Wood	8	\$302.50	Т	\$2,420.00
A	Dining Chairs - Bali - Wood & Cane Back	32	\$27.50	Т	\$880.00
		Tota	l Chairs and Ta	bles	\$5,500.00
Furniture					
	Ottomans - Standard Pod Colors TBD	9	\$33.00	Т	\$297.00
	MIX AND MATCH PILLOWS	16	\$22.00	Т	\$352.00
	Though Blankets Mix and Match	6	\$22.00	Т	\$132.00
	Sofas - Bali - Bamboo White Wash	3	\$412.50	Т	\$1,237.50
	Coffee Tables - Bora Bora - White Wash	3	\$275.00	Т	\$825.00
	Club & Lounge Chairs - Bora Bora - Accent Chair	6	\$66.00	Т	\$396.00
		Total Furniture		\$3,239.50	
General					
A	Garden Swings - Painted In Fuchsia	1	\$572.00	Т	\$572.00
	Dj Booths - Berlin - Multi-mirror Small	1	\$440.00	Т	\$440.00

Description		Qtty	Price	Total
			Total General	\$1,012.00
Services				
	Delivery Install and Pick up	1	\$6,860.00	\$6,860.00
	Damage- Ware & Tare 6%	1	\$1,371.00	\$1,371.00
	Packing Sup & Misc	1	\$457.00	\$457.00
	Manager - diagram and Consultation	1	\$700.00	\$700.00

Please make checks payable to Revelry, Inc.	Total Products:	\$24,739.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$9,388.00
Please ready the contract and sign it	Taxes :	\$2,163.15
	Discounts:	(\$1,969.00)
Notes	Total:	\$34,321.15
	Payments:	(\$0.00)
	Balance:	\$34,321.15